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Werecall thatthebinomial distribution
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gives
theprobabilityof observing 1h successes when performing N

independent binaryexperiments eachwith successprobability p

Letus call q E l p
Then the binomial theoremsaysthat
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where we have defined the moatgenealingfunction F Clearly

F p q This shows that the binomial distribution isnormalized

Next we compute
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It follows that

p É KkNpy
This isthe rear ofthe binomial distribution

Wenow compete the variance ofthe binomial distribution

or K 21275 K2 4145

ÉTty
K K p q NIN 1 ptg

ne

N N ph 41427 4147

p N pen KY pen


